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Math 9 — Unit 5: Financial Literacy Name: /YMS M

Lesson : Interests Date: /)'\/l}/)f Itf’, ZD LS-

Learning Goal: We are learning to calculate interest and understand the differences bé/ween simple and
compound interest.

When you put your money in a bank account or in an investment, you earn money. When you borrow money
from a bank or other financial institution, you pay money. That money you earn or pay is called interest.

To calculate the amount of interest that you earn or pay, we can use Simple Interest or Compound Interest.

We will first start with Simple Interest. The formula is, well, simple! l SI = Prt ’
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Then@s the new amount that you have in your bank account or the total that you had to pay. It is calculated by
adding the principal to the interest earned/paid. A= P+ T

Examples:

Calculate the simple interest for the following situations:

a) $10,000 invested at 5% for 6 years. b) $4000 borrowed at 4% for 4 years.
P=410,000 ; ¥= 5)=0-05; = Cye P=g%Yoo0, F=4% =00% ,t=k TuM
feo
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2. ST =Pt~ (¢o00) (0-0%) (w)

= 3,000
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Now find the missing part:
c) How many years to earn $500 interest when you invest $1000 at 7.5%.
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d) You borrowed $1500. In 10 years, you paid back $2400. What is the interest rate?

P= gtseo, £=10 , A=gayoo, £= ¢ R7

L =A-f= 24o0-Is00 = $70°
T= Irb = 6
900 .&roo)(_*)( 1°) /

v = oo -1 -
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Simple Interest has one flaw. It acts as a one-time payment at the end of the investment or loan. In an
investment, you don’t benefit from that interest until the end. There is a better way! Compound interest
calculates interest throughout the life of the investment and adds that money into your bank account. Thus,
whenever the next round of interest in calculated, there is more money in the account. You are earning interest
on the interest! Let’s compare:
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If you have $100 and you earn 10% interest:
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0 J 100 $10 $110 e— Todd | At in /}’ovv
1 $||0 $H $|7_|Q——73H4Qn{'-u'n Z,M
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4 | $1¢6 ) $ 1Y% cul g1 o5« |t " s}w-
5 $l1el-05 5 lb-tes .7{77-\§§"

How much would you have in five years if you used simple interest?
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Now, that seems Iike a lot of work to calculate, but thankfully there is a formula!
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Try it out:

a) $750 invested at 4% interest/for 7 years.
P- 3750 , A% -o004% ) £f774.~\4-

(oo
AepCisa)
A= 7s0 ('* 0-0%)
=z 750 Lf~0*j'
2 $986-45
—>How much interest did you earn?

Cr=A—"? -9¢¢-95 —750°
CI= $236%s

b) $4350 invested at 2.5% for 50 years. [WO“JUQ
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How much interested did you earn?
cT = A-f
= (4,95) -2~ 4350 = $10,60) &2
c) After investing for 12 years at 6%, you had $13,682.94 in your bank account. How much did you invest?
n=b -0o0¢; A=F13682T% . f’,

t =120, =
M- PCi4adt
13,682-9¢ = P (- 6)

)Tﬂl\j" =pC2e) > p=(2,6821% _Fggoq.42
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How much interest did you earn?

CYX=h-?=1(2,829%4 —6%07. 43 = $687S -S|

Success Criteria:

e | can calculate the interest earned or paid using either simple or compound interest.



MTH1IW

Questions for you to do.

1. Emily inherits $2000 and puts it in an investment earning 8% simple interest. How much money will she have
in 25 years?
P= $2000/ R= %/. = 00§ , T=28 Iw

ST =PRT = 2000 X 0:084 25 = Y000
./ = 2000+ Y000 = 6000
Ew’ld il Aose $6000 ot~ T erd egras’duw!.

2. Luis borrows $25000 for student loans from his parents. They ask him to pay it back in 10 years and charge
him 3.5% compound interest. How much will he have to pay back and how much interest was he charged?

’F: %25‘000 5 T= (O o4 ) R= 3'5/-=_£§; 0- 035
[oo

A=P(HR)'= pgoeo (1+ 0035)"

= oo [ |- 035 . < oed $(°,26‘I--‘77a4
=$3s526%-47 bnck. $3526% 47
S CL=A-9=2526497—25000 P’]

=$10264-97

3. Xiu needs $8000 in 8 years. She obtains a compound interest rate of 7.5%. How much does she need to invest
today to reach her goal?
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4. You come to me to borrow $500 dollars. You plan to repay the money in two years. | offer you 5% simple
_interest and a 4.5% compound interest. Which is the better option for you?
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